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200 Questions

Que. 1 Directions: Study the information carefully and answer the given questions
Six people P, Q, R, S, T, and U live in a building consisting of 6 floors, where the ground floor is

numbered as 1 and the topmost floor is numbered as 6. They like all different colors red, blue, black, yellow,
green, and white but not necessarily in the same order. R lives on an even-numbered floor but not on the topmost
floor. The person who likes blue color lives at least above two floors. There are three persons living between the
one who likes yellow and the one who likes green color. S lives on the lowermost floor and likes green color. The
person who likes blue color lives immediately below the one who likes white color. P and Q live above the 4th
floor. The persons who like yellow color lives immediately below the one who likes red color. The one who likes
black color lives immediately below the one who likes blue color. U does not like blue color. No person lives
between T and R. Either one or two persons live between U and S. Q does not like red color.

Which color is liked by Q?

Correct Option - 2

Black1.
Yellow2.
Red3.
Blue4.
Green5.

Que. 2 Which person is related to Q in the same way as P is related to U?

Correct Option - 5

The one who likes blue1.
S2.
T3.
The one who likes red color4.
Both 1 and 35.

Que. 3 Who lives on 3rd floor?

Correct Option - 3

Q1.
The one who likes red color2.
The one who likes blue color3.
R4.
S5.

Que. 4 Who lives immediately above the person who likes white color?

The person who likes green color1.



Correct Option - 5

R2.
The person who likes Yellow3.
Q4.
Both 3 and 45.

Que. 5 What is the sum of the floors on which T and R lives?

Correct Option - 4

Four1.
Three2.
Two3.
Five4.
One5.

Que. 6 Directions: Study the information carefully and answer the given questions
A certain number of persons went to a party at Anil's house. Everyone present at the party is related to

Anil in some way. Apoorva is the maternal grandmother of Ashok and has three children, two daughters, and one
son. Anil is the son of Arun, who is the husband of Apoorva. Amit is married to Aman, who is the son-in-law of
Apoorva. Amar is the mother of Ashok and sister of Amit.  

If Ashok is married to Ashwani, then how will Ashwani be related to Arun?

Correct Option - 5

Daughter-in-law1.
Daughter2.
Son-in-law3.
Brother4.
Cannot be determined5.

Que. 7 If Ashok is the son of  Amar, then how is he related to Anil?

Correct Option - 3

Niece1.
Son2.
Nephew3.
Brother4.
Sister5.

Que. 8 Which of the following pairs are married?

Arun, Ashok1.
Amit, Anil2.



Correct Option - 4

Apoorva, Amar3.
Apoorva, Arun4.
Amar, Aman5.

Que. 9 Which of the following symbols should replace '?' in the given expression in order to make expression P
> Q definitely true?

R = N > Q  ? T < V = O ? P ≥ S ≤ U

Correct Option - 1

<, <1.
>, <2.
<, ≥3.
>, ≥4.
≥, ≥5.

Que. 10 Directions: Study the following information carefully and answer the given questions:
In a certain code language,

'employees are always punctual' is written as 'bla pla cla sla'
'managers are always appreciated' is written as 'mla sla pla tla'
'managers work with efficiency' is written as 'rla fla tla gla'
'juniors always admire seniors' is written as 'dla hla sla ola'

What is the code for 'punctual juniors' in that language?

Correct Option - 5

bla ola1.
cla ola2.
cla hla3.
bla dla4.
Cannot be determined5.

Que. 11 If 'managers are seniors' is coded as 'ola pla tla', then what will be the code for 'seniors' in that
language?

Correct Option - 3

dla1.
tla2.
ola3.
pla4.
hla5.



Que. 12 What can be the code for 'appreciated' in that language?

Correct Option - 4

rla1.
fla2.
gla3.
mla4.
Cannot be determined5.

Que. 13 What is the code for 'punctual' in that language?

Correct Option - 5

cla1.
bla2.
pla3.
Either 2 or 34.
Either 1 or 25.

Que. 14 What is the code for 'are' in that code language?

Correct Option - 2

sla1.
pla2.
bla3.
cla4.
Cannot be determined5.

Que. 15 Directions: Read the following information and answer the questions that follow.
Nine persons - A, B, C, D, E, F, G, H and I are sitting on a circular table. Five persons are facing

outside while four are facing inside. Not more than two persons facing the same direction are sitting together. F is
sitting third to the right of A who is facing inside. Three persons are sitting between F and E. B and G are sitting
immediate left of each other. C is sitting third to the right of H who is one of the neighbours of A. H is not facing
outside. Two persons are sitting between D and I who is adjacent to C. E, who is not sitting adjacent to B, is one
of the immediate neighbours of H. F is sitting to the immediate left of C while to the immediate right of D.

Four of them belong to a certain group and follow a certain pattern which one of the following does not belong to
that group?

F1.
H2.
G3.
A4.
D5.



Correct Option - 5

Que. 16 If C and B exchange their positions, who will sit third to the left of C?

Correct Option - 3

E1.
A2.
H3.
F4.
D5.

Que. 17 Who is sitting second to the right of the person who is third to the right of I?

Correct Option - 4

A1.
H2.
D3.
B4.
None of these5.

Que. 18 Who is sitting second to the left of F?

Correct Option - 1

I1.
D2.
C3.
H4.
G5.

Que. 19 Who is sitting to the immediate right of A?

Correct Option - 2

H1.
I2.
B3.
E4.
G5.

Que. 20 Direction: Study the information below and answer the following question.
Six people A, B, C, D, E, and F born on either 17th or 28th of March, April, and May of the same year.

No two people were born on the same date. A belongs to Delhi and was born in the month having 30 days.
Neither B nor D belongs to Kolkata. Two people were born between the one who belongs to Delhi and either B



or D. E was born after B but not immediately. D was not born in April. C was neither born in the month having
31 days nor belongs to Kolkata. E does not belong to Mumbai. The one who belongs to Kolkata was born in the
month having 31 days. The one who belongs to Mumbai was born on an even date. A and E were born in the
adjacent month but on different dates. The one who belongs to Chennai and C was born on the same date but in
different months. F was born immediately after B. The one who belongs to Mumbai was born immediately after
the one who was born in Chennai. The one who belongs to  Bengaluru was born in the month having 30 days.
Two people were born between E and the one who belongs to Kolkata. One person was born in Hyderabad.

Which of the following combination is true?

Correct Option - 2

17 April  - A - Delhi1.
17 March - B - Hyderabad2.
28 May - D - Kolkata3.
28 March - F - Chennai4.
None of these5.

Que. 21 Who was born on 17th April?

Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 22 Who belongs to Hyderabad?

Correct Option - 3

D1.
C2.
B3.
A4.
E5.

Que. 23 How many people were born between F and the one who belongs to Chennai?

Correct Option - 1

21.
32.
43.
54.
None5.



Que. 24 Who belongs to Kolkata?

Correct Option - 4

A1.
B2.
D3.
F4.
E5.

Que. 25 Direction: Study the information below and answer the following question.
There are six points P, Q, R , X, Y and Z . Q is 6 metre to the east of P. R is 8 metre to the south of P. X

is 8 metre south of Q. Y is 8 metre east of X and Z is 10 metre south of Y. A starts walking towards north for
5 metre from a certain point and takes  a right turn and walks for 14 metre and takes a left turn and walks for 5
metre to reach point Z.

Which one is alike from the remaining with respect to Z?

Correct Option - 4

P1.
R2.
X3.
Y4.
Q5.

Que. 26 What is the distance between A's initial position and point P?

Correct Option - 2

20 metre1.
28 metre2.
30 metre3.
16 metre4.
21 metre5.

Que. 27 In which direction is A's final position with respect to its initial position?

Correct Option - 1

Northeast1.
Southeast2.
East3.
West4.
North5.



Que. 28 How many such pairs of digits are there in the number ‘ 46957284523 ’, each of which has as many
digits between them in the word ( both forward and backward direction ) as they have between them in

arithmetic numerals  ?

Correct Option - 5

Three1.
Four2.
Five3.
Six4.
More than six5.

Que. 29 Directions: Study the given information carefully and answer the following questions below.
There are eleven boxes in a stack. Box number 1 is on the bottom and box number eleven is on the top

of the stack. Box S is in the fourth stacks. V is placed immediately above J. Number of boxes below J are one
more than the box above V. More than three boxes are between S and D, which is not on the top. More than six
boxes between D and K. Box below G are one more than box above D. G is below S. Three boxes are between R
and T, which is near to D. M is not on the top and not near to G. N is just below T. P is one of the box. 
How many boxes are between J and P?

Correct Option - 4

One1.
Two2.
Three3.
Four4.
Five5.

Que. 30 Number of boxes which are below T as many as above which box? 

Correct Option - 5

K1.
M2.
S3.
R4.
G5.

Que. 31 Which box is placed on bottom of the stack?

Correct Option - 2

P1.
M2.
K3.
G4.
J5.



Que. 32 How many boxes are there between R and M?

Correct Option - 3

One1.
Two2.
Three3.
Four4.
Five5.

Que. 33 In which Stack Box N has been placed?

Correct Option - 4

Eleventh1.
Tenth2.
Ninth3.
Eighth4.
Seventh5.

Que. 34 There are four words given in each option that follows a certain logic, if the third letter from the left of
each word is taken then a meaningful word can be formed, find the odd one which does not follow the

same pattern.

Correct Option - 5

ROKI, KENL, ROET, MNER1.
SPDN, RION, PROT, SARU.2.
SORT, NGOK, CRSU, QREP3.
ROMI, KEOL, ROST, MNTR4.

NAOT, STON, NITY, SITT5.

Que. 35 If each vowel of the word 'GRAYHOUND' is changed to the previous letter as in the English
alphabetical series and each consonant is changed to the next letter as in the English alphabetical

series then in new arrangement how many letters are repeated? 

Correct Option - 1

One1.
Two2.
Three3.
Four4.
None5.

Direction: Read the instructions carefully to answer the questions given below,



Que. 36 There are 10 students A, B, C, D, E, F, J, K, L and M. They all are in the three different branches ie.
B.SC, B.com and B.A. but not necessarily in the same order. Neither any branch have less than three

students nor have more than four students. A and B are in the same branch but not in the the B.com. D and C are
in the different branch but neither of them in the B.com. K is neither in the same branch with A nor studies in the
B.com. K and J are in the different branch. L studies with three more friends but neither in B.sc nor in B.com. C
is not in the same branch with A. F is neither in the same branch with A nor with J. E is not in the same branch B
or C. F is in the branch having more than three students but not in the B.com. M is neither in the same branch
with F nor with the D. J studies with two more friends but not in the B.A. Neither J nor K is in the same branch
with D.

F is in the same branch with?

Correct Option - 4

A1.
B2.
M3.
C4.
E5.

Que. 37 In which Branch 'D' studies?

Correct Option - 1

B.sc1.
B.com2.
B.A.3.
Either B.sc or B.com4.
None of these5.

Que. 38 'K' is in which branch?

Correct Option - 2

B.sc1.
B.A.2.
B.com3.
Either B.A. or B.sc4.
None of these5.

Que. 39 L is in same branch with?

K and M1.
C, F and K2.
A and B3.
C and K4.
K and E5.



Correct Option - 2

Que. 40 Which branch have more than three students? 

Correct Option - 1

B.A.1.
B.com2.
B.sc3.
Either .Bsc or B.com4.
None of these.5.

Que. 41 In each of the following number series, the wrong number is given, find out that number.
2, 3, 6, 15, 45, 156.5, 630

Correct Option - 4

61.
32.
453.
156.54.
155.

Que. 42 In each of the following number series, the wrong number is given, find out that number.
36, 20, 12, 8, 6, 5.5, 4.5

Correct Option - 1

5.51.
362.
123.
84.
65.

Que. 43 In each of the following number series, the wrong number is given, find out that number.
16, 40, 100, 250, 630, 1562.5

Correct Option - 3

161.
2502.
6303.
404.
1562.55.



Que. 44 In each of the following number series, the wrong number is given, find out that number.
5, 23, 43, 66, 94, 131

Correct Option - 1

1311.
662.
943.
234.
55.

Que. 45 In each of the following number series, the wrong number is given, find out that number.
5541, 5506, 5457, 5376, 5255, 5086

Correct Option - 1

55411.
55062.
54573.
53764.
50865.

Que. 46 What will come in the place of the question mark '?' in the following question?
(76 ÷ 0.25 ÷ 0.1) × 1.25 + 45.5 × 2 = ?

Correct Option - 1

38911.
52032.
53133.
51034.
5255.

Que. 47 What will come in the place of the question mark '?' in the following question?
1593 – 739 + 15147 + 839 × 3 = ?

Correct Option - 1

185181.
202152.
21363.
32004.
12005.

Que. 48 What will come in the place of the question mark '?' in the following question?



2 × 8393 + 63 ÷  7 = ?

Correct Option - 1

167951.
168052.
179483.
159354.
157845.

Que. 49 What value will come in the place of the question mark '?' in the following question?
(4382 – 370) ÷ 8 + 9.5 = ?

Correct Option - 1

5111.
4292.
5633.
2434.
6745.

Que. 50 What approximate value will come in the place of the question mark ‘?’ in the following question?
(23.097 + 6.87) × 2.09 + 4.89 = ?

Correct Option - 4

761.
702.
873.
654.
985.

Que. 51 The total sales of 100 outlets of a shopping complex is Rs. 45,000. The average sales of 30 of them is
Rs.350. The average sale of another 20 of them is Rs. 860. Find the average sale of the remaining

outlets (In rupees).

Correct Option - 5

Rs. 3401.
Rs. 3422.
Rs. 3303.
Rs. 4464.
Rs. 3465.

Que. 52 The first, second and third class third class train fare is Rs. 15, Rs. 10, and Rs. 7.50 per km
respectively. Someday the ratio of passengers travelling in these categories is 2 : 5 : 13. What will be



the average fare per passenger for that day?

Correct Option - 5

Rs. 121.
Rs. 102.
Rs. 153.
Rs. 184.
None of the above.5.

Que. 53 There were 20 boys in a class. The average age increase by 2 months, as a new boy comes in a place of
a boy aged 18 years. The age of new boy is?

Correct Option - 5

17 years 10 months1.
17 years 5 months2.
7 years 10 months3.
16 years 10 months4.
None of the above5.

Que. 54 The length and width of a rectangle are increased by 40% and 20% respectively. If its area increased by
68%, find the approximately length of the rectangle is what percentage of the width?

Correct Option - 4

701.
602.
503.
Can not be determined4.
None of these5.

Que. 55 A man borrows Rs. 6000 from a bank at simple interest. After 4 years, he paid Rs. 2500 to the bank and
at the end of 5 years from the date of borrowing he paid Rs. 4560 to settle the account. Find the rate

percent per annum.

Correct Option - 3

4%1.
3%2.
3.85%3.
4.5%4.
2.75%5.

Que. 56 A man wants to invest Rs. 8425 in bank account of his two daughters whose age are 24 years and 28
years in such a way that they will get equal amount on age of 40 years at the rate of 33.3%

compounded annually. Find the share of elder daughter.



Correct Option - 1

Rs. 64001.
Rs. 64642.
Rs. 54003.
Rs. 70004.
Rs. 64825.

Que. 57 Rakesh does half of the work in 30 days and Sanny does remaining work in 7.5 days. In how many
days the work will be completed by them if they work together? 

Correct Option - 1

12 days1.
13 days2.
15 days3.
20 days4.
14 days5.

Que. 58 A container having pure milk, 30% is replaced by water and the process is repeated three times. At the
end of the third operation, what will be the intensity of milk?

Correct Option - 4

34%1.
35%2.
38%3.
34.3%4.
36%5.

Que. 59 A train crosses a platform of length 250 m in 20 seconds and crosses a pole in 10 seconds. Find the
length of train.

Correct Option - 1

250 m1.
350 m2.
450 m3.
500 m4.
150 m5.

Que. 60 A, B and C start business with an investment of Rs.4000, Rs.8000 and Rs.12000. The total profit they
got after 1 year is Rs.12,000. Find the profit got B and C together.

Rs.5,0001.
Rs.10,0002.



Correct Option - 2

Rs.15,0003.
Rs.16,0004.
Rs.20,0005.

Que. 61 An article was purchased for Rs.7000. Later its price was marked up by 30%. It was sold at a discount
of 10% on the marked-up price. What was the profit percent on the cost price?

Correct Option - 3

8%1.
10%2.
17%3.
18%4.
15%5.

Que. 62 The marked price of an object is Rs.2000. An shopkeeper giving two successive discount of 20% and
25%.Find the selling price of that object.

Correct Option - 1

Rs.12001.
Rs.16002.
Rs.11003.
Rs.10004.
Rs.15005.

Que. 63 Directions: The question is given below consists of two statements. You have to decide whether the
data provided in the statement(s) is/are sufficient to answer the given question.

Find the wages of P, Q and R together if they worked together to complete the work.
Statement 1. P, Q and R alone can complete the work in 12, 18 and 36 days respectively.
Statement 2. The sum of the wages of P and R is Rs. 640 

Correct Option - 3

Statement 1 alone is sufficient to answer the question but statement 2 alone is not sufficient. 1.
Statement 2 alone is sufficient to answer the question but statement 1 alone is not sufficient. 2.
Both statement 1 and statement 2 together is needed to answer the question.3.
Neither statement 1 and nor statement 2 is sufficient to answer the question. 4.
Either statement 1 alone or statement 2 alone is sufficient to answer the question. 5.

Que. 64 Directions: The following question is accompanied by two statements (I), (II). You have to determine
which statements(s) is/are sufficient/necessary to answer the questions.

What is the time P and Q to complete the work?
Statement I: P and R take 10 hours to complete the work.



Statement II: Q and R take 12 hours to complete the work.

Correct Option - 4

Statement I alone is sufficient to answer the question but statement II alone is not sufficient. 1.
Statement II alone is sufficient to answer the question but statement I alone is not sufficient. 2.
Both statements I and statement II together are needed to answer the question.3.
Neither statement I and nor statement II is sufficient to answer the question. 4.
Either of the statement I and statement II together is needed to answer the question.5.

Que. 65 Directions: The following question is accompanied by two statements (I), (II). You have to determine
which statements(s) is/are sufficient/necessary to answer the questions.

What is the quantity of alcohol in 120 liters of a mixture of alcohol and water?
Statement I: If 12 liters of water is poured into the mixture, then the ratio of alcohol and water would be  8 : 3.
Statement II: If 20 liters of the solution is taken out and replaced with pure alcohol, then the ratio of the quantity
of alcohol to that of water in the solution will be 5 : 1.

Correct Option - 5

Statement I alone is sufficient to answer the question but statement II alone is not sufficient.1.
Statement II alone is sufficient to answer the question but statement I alone is not sufficient.2.
Both statement I and statement II together is needed to answer the question.3.
Neither statement I and nor statement II is sufficient to answer the question. 4.
Either statement I alone or statement II alone is sufficient to answer the question.5.

Que. 66 Directions: Following table shows, a survey of the number of people who live in their homes and the
number of people who live on rent from different villages A, B, C, D and E. Study the following table

carefully and give the answer to the following questions.
Villages Live in the Home Live on rent

A 45000 25000
B 50000 35000
C 25000 40000
D 60000 80000
E 55000 45000

Find the percentage increase in number of the people who live on rent with respect to the number of people who
live in home form village D.

Correct Option - 1

33.33%1.
66.66%2.
12.5%3.
14.28%4.
56.66%5.



Que. 67 Find the difference between the people who live in home from all villages and the people who live on
rent.

Correct Option - 1

100001.
200002.
250003.
150004.
130005.

Que. 68 In which village has the highest ratio of number of people who live in home to the number of people
who live on rent?

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 69 Find the average number of people who live in the home form all villages combined together.

Correct Option - 1

470001.
270002.
370003.
450004.
None of these5.

Que. 70 Find the ratio of the number of people who live in the home to the number of people who live on rent
in village A and C combined together.

Correct Option - 1

14 : 131.
12 : 132.
13 : 143.
13 : 124.
None of these5.

Que. 71 In a fast-food shop, there are 1800 visitors in a month orders five different snacks namely Burger,
Pizza, Fries, Hot dog, and Cake. Out of the female visitors, 24% order burgers, 28% order pizza, 12%



order fries, 15% ordered cakes, and the remaining 147 order hotdogs. Out of the total male visitors 14% order
burger, 26% order pizza, 28% order fries, 18% order cake, and the remaining 154 order hotdog.

What is the ratio of the number of male visitors orders cake and the number of female visitors orders hotdog?

Correct Option - 3

55 : 891.
79 : 112.
66 : 493.
51 : 994.
11 : 795.

Que. 72 What is the ratio between the orders of burger and pizza by male visitors together and the orders of
fries and cake by female visitors together?

Correct Option - 1

440 : 1891.
189 : 4402.
189 : 5553.
555 : 1894.
689 : 5555.

Que. 73 Among all the orders, In which order the difference between the male visitors and female visitors is
maximum?

Correct Option - 1

Fries1.
Burger2.
Hotdog3.
Pizza4.
Cake5.

Que. 74 What is the average number of male visitors who order pizza, fries, and cake together?

Correct Option - 3

2571.
2542.
2643.
2584.
2695.

Que. 75 How many total numbers of visitors ordered cake?



Correct Option - 1

3031.
2032.
5033.
6034.
7035.

Que. 76 Directions: Study the Pie chart and answer the following question.
The pie chart is showing the percentage of different types of shirts sold by five different stores namely

A, B, C, D and E.

If the number of shirt sold by store B is 280. Find the difference in quantity of shirt sold by store C and store B.

Correct Option - 4

1401.
2802.
1003.
1124.
2005.

Que. 77 If the difference in shirt sold by store C and store D is 1800. Find the number of shirts sold by store D.

Correct Option - 1

32001.
28002.
24003.
36004.
40005.



Que. 78 If the difference in shirt sold by store A and store D is 64, then find the total shirt sold by store A, B
and E.

Correct Option - 3

7641.
7002.
8643.
8004.
9645.

Que. 79 Find the average of shirt sold by all stores. If the shirt sold by store B is 1750.

Correct Option - 1

35001.
40002.
33003.
30004.
25005.

Que. 80 Find the average of shirt sold by store D and E, if the shirt sold by E is 256.

Correct Option - 1

3841.
3302.
3003.
3504.
3605.

Que. 81 According to 2011 census what is Rural populations of India?

Correct Option - 1

833.1 million 1.
800.1 million 2.
893.1 million 3.
933.1 million 4.
None of these5.

Que. 82 When is the International Tiger Day celebrated every year?

21 July1.
24 July2.
27 July3.
29 July4.



Correct Option - 4

30 July5.

Que. 83 PMJDY is a nationwide scheme launched by the Government of India to ensure the financial inclusion
of every individual who does not have a bank account in India. What was the overdraft limit this

scheme?

Correct Option - 5

 5,000.1.
6,0002.
7,000.3.
8,0004.
10,0005.

Que. 84 What is the maximum amount of fund deposited under the Public Provident Fund?

Correct Option - 3

1 lakhs1.
50 thousand2.
1.5 lakhs3.
2 lakhs4.
2.5 lakhs5.

Que. 85 The Government of India releases MSP of agricultural produce from time to time. What is the full form
of MSP?

Correct Option - 2

Minimum Selling Price1.
Minimum Support Price2.
Maximum Selling Price3.
Maximum Support Price4.
None of these5.

Que. 86 In October 2020, which bank has raised ₹5,000 crores by issuing Basel-III compliant bonds?

Correct Option - 3

PNB1.
Yes Bank2.
SBI3.
Axis Bank4.
ICICI Bank5.



Que. 87 Which state has decided to celebrate the popular Hornbill festival virtually this year, amid the surge in
COVID-19 cases in the country?

Correct Option - 3

Sikkim1.
Odisha2.
Nagaland3.
West Bengal4.
Telangana5.

Que. 88 Which among the following countries virtually hosted the 15th G20 Summit in November 2020?

Correct Option - 5

India1.
Japan2.
the USA3.
France4.
Saudi Arabia5.

Que. 89 Who among the following is not a member of G7?

Correct Option - 3

France1.
Germany2.
Russia3.
Japan4.
Canada5.

Que. 90 In Aug 2020, which of the following states has officially announced the inauguration of the first-ever
seaplane service in the state from October 31?

Correct Option - 3

Andhra Pradesh1.
Maharashtra2.
Gujarat3.
Tamil Nadu4.
Kerala5.

Que. 91 Soumitra Chatterjee passed away in November 2020. He was related to which of the following fields?

Acting1.
Politics2.
Journalism3.



Correct Option - 1

Cricket4.
Medicine5.

Que. 92 In July 2020, who has written the book 'Overdraft: Saving the Indian Saver'?

Correct Option - 3

Manmohan Singh1.
Jayant Sinha2.
Urjit Patel3.
Raghuram Rajan4.
Shaktikanta Das5.

Que. 93 Which of the following minister launched the National Portal for Transgender Persons?

Correct Option - 1

Thaawar Chand Gehlot1.
Subrahmanyam Jaishankar2.
Ravi Shankar Prasad3.
Nitin Gadkari4.
Smriti Zubin Irani5.

Que. 94 Saubhagya yojnana is scheme that provide subsidy on equipment such as transformers, wires, and
meters and provide power connection in both the urban and rural areas.. What does

SOUBHAGYA stand for?

Correct Option - 2

Solar Bijli Har Ghar Yojana1.
Sahaj Bijli Har Ghar Yojana2.
Sehar Bijli Har Ghar Yojana3.
Safal Bilji  Har Ghar Yojana4.
None of these5.

Que. 95 In Jan 2021, Pradhan Mantri Fasal Bima Yojana completed 5 years of operation. How many farmers
have been benefitted from this scheme?

Correct Option - 5

24 lakh1.
48 lakh2.
72 lakh3.
96 lakh4.
70 lakh5.



Que. 96 The Kisan Credit Card scheme is a Government of India scheme which provides farmers with timely
access to credit. This scheme was launched in 1998 and  Credit is available for up to ____.

Correct Option - 1

3 years.1.
4 years.2.
5 years.3.
2 years.4.
1 years.5.

Que. 97 Who among the following has  become the first non-Indian to win the Ramanujan Prize for Young
Mathematicians? (Dec)

Correct Option - 1

Carolina Araujo1.
Claudia Sagastizábal2.
Chenyang Xu3.
Alby Mathews4.
None of these5.

Que. 98 In which year National Dairy Development Board was established?

Correct Option - 2

19601.
19652.
19703.
19554.
19635.

Que. 99 OTP memory full form is ?

Correct Option - 1

One-Time Programmable Memory1.
One Take Programmable Memory2.
Original Time Produced Memory3.
Original transfer Programmable Memory4.
None of the above5.

Que. 100 What is the highest denomination note ever printed by the RBI?

Rs. 1,00,0001.
Rs. 10,0002.



Correct Option - 2

Rs. 5,0003.
Rs. 1,0004.
Rs. 5,005.

Que. 101 The Monetary Authority of Singapore (MAS) was established in ________.

Correct Option - 2

19701.
19712.
19723.
19734.
19695.

Que. 102 Gudni Th. Jóhannesson has been appointed as the President of which country in June 2020?

Correct Option - 2

Finland1.
Iceland2.
Norway3.
Ireland4.
Sweden5.

Que. 103 BSNL in partnership with which of the following banks has launched a UPI-based payment platform,
Bharat InstaPay?

Correct Option - 4

HDFC Bank1.
Axis Bank2.
Canara Bank3.
SBI4.
Bank of Baroda5.

Que. 104 ASHA is one of the key components of the National Rural Health Mission is to provide every village
in the country with a trained female community health activist. What does ASHA stand for?

Accredited Social Health Activist.1.
Accredited Social Health Worker Association2.
Association of Social Health Activist.3.
Accredited Socialist Health Association4.
None of these5.



Correct Option - 1

Que. 105 Which of the following company is not a member of Hinduja Group?

Correct Option - 5

Ashok Leyland Ltd1.
IndusInd Bank Ltd2.
Gulf Oil Corp. Ltd3.
Hinduja Global Solutions Ltd4.
Larsen and Toubro5.

Que. 106 As per the guidelines for licensing payments banks, a payments bank will initially be restricted to
holding a maximum balance of Rs. ________ per individual customer.

Correct Option - 2

50,0001.
2,00,0002.
1,00,0003.
10,00,0004.
1,50,0005.

Que. 107 Many times we read in newspapers that several companies are adopting the FCCBs route to
raise capital. What is the full form of FCCBs?

Correct Option - 1

Foreign Currency Convertible Bonds1.
Foreign Convertible Credit Bonds2.
Financial Consortium and credit bureau3.
Future Credit and Currency Bureau4.
None of the above5.

Que. 108 The Ministry of Rural Development has adopted the concept of  RSETI for self-employment. What
does T stand-in RSETI?

Correct Option - 1

Training1.
Technology2.
Tropical3.
Trainer4.
Trained5.

Que. 109



‘Mine-Instant savings account opening ' comprehensive banking program for millennial customers has been
launched by which bank? (Nov)
 

Correct Option - 5

Axis Bank1.
HDFC Bank2.
UCO Bank3.
Bank of Baroda4.
ICICI Bank5.

Que. 110 Which of the following is correct for crossed cheque?

Correct Option - 2

It has three lines are made on the top right of the cheque. 1.
There is no cash payment on this cheque. 2.
Amount mentioned on the cheque cannot be transferred to the bank account of the payee. 3.
The lines must be wavy.4.
The cheque is non-endorsable. 5.

Que. 111 Which of the following is not a Kharif crop?

Correct Option - 1

Mustard 1.
Jowar2.
Paddy3.
Soyabean4.
All of the above5.

Que. 112 Which of the following players were not awarded with the Padma Awards in sports category 2021?
(Jan 2021)

Correct Option - 5

Mouma Das1.
KY Venkatesh2.
Anshu Jamsenpa3.
Virender Singh4.
None of the above.5.

Que. 113 Where is the famous temple of Angkor Wat located?

Vietnam1.
Cambodia2.



Correct Option - 2

Thailand 3.
Philippines 4.
China5.

Que. 114 DBS Bank has been headquartered in __________

Correct Option - 3

United Kingdom1.
Spain2.
Singapore3.
South Africa4.
None of these5.

Que. 115 The farmers are provided with an Overdraft facility based on the value of their land by Karnataka
Vikas Grameen Bank. What is the maximum limit fixed for per acre of Irrigated Lands? (Dec)

Correct Option - 4

Rs 50,0001.
Rs 75,0002.
Rs 1 Lakh3.
Rs 1.5 Lakh4.
Rs 2 Lakh5.

Que. 116 Which is the first Public Sector Bank to issue capital to public?

Correct Option - 3

Indian Overseas Bank1.
Syndicate Bank2.
Oriental Bank of Commerce3.
Punjab National Bank4.
None of these5.

Que. 117 Which of the following has announced a special refinance facility to support the government's Water,
Sanitisation and Hygiene (WASH) programme?

Correct Option - 3

SEBI1.
SBI2.
NABARD3.
ADB4.
World Bank5.



Que. 118 Hiroshima day is celebrated on which day?

Correct Option - 1

6th August1.
7th August2.
8th August3.
9th August4.
10th August5.

Que. 119 Which of the following has announced the launch of digital gold on its platform in October 2020?

Correct Option - 3

Mobikwik1.
Freecharge2.
BharatPe3.
Amazon Pay4.
PhonePe5.

Que. 120 Where is the Headquarter of Asian Development Bank?

Correct Option - 1

Manila1.
Beijing2.
Tokyo3.
Shanghai4.
Both i and ii5.

Que. 121 Direction: Read the passage given below and answer the following questions.
In today's work environment, one of the key characteristics that companies look for in their

employees is emotional intelligence. Research shows that emotional intelligence counts for twice as much as
intelligence and technical skills combined, in determining who will be a key asset to the company. The concept
of "emotional intelligence” in the workplace is the ability to understand and manage one's own emotions and
understand the emotions of others so that they can ______ on shared goals. Employees who are able to handle
their emotions effectively while also understanding the emotional needs of their colleagues can be greatly
valuable to any company. According to a recent study, 41% of employees say they feel burned out from work,
while 45% say they are emotionally drained. More importantly, around 35% of employees reported experiencing
symptoms of depression often at work. Emotional intelligence is one of the qualities that helps maintain a
company culture together in such an environment. It helps employees listen to one another, recognize and
address problems without being rattled, and approach every situation with genuine concern for the feelings of
others. Managers have a significant influence on the workplace and so, they must be the first to understand how
their own emotions can affect their colleagues. Emotional intelligence in leaders demonstrates the ability to take
responsibility and personal accountability and to step into stressful situations. Companies use a variety of
methods to evaluate the emotional intelligence of their employees. Pre-employment assessments allow hiring
managers to get the picture of a potential employee’s character and interpersonal skills as well as their cognitive
and communication skills. A more thorough evaluation can be made by asking candidates about their previous



work experience, especially regarding the way they handle various situations at work. Additionally, reference
checks with previous employers or colleagues may be used to gauge the interpersonal interactions of a person.
With the increasing automation of jobs, the only roles that cannot be fulfilled by machines will be those jobs that
require situational awareness and visualizing the future, which requires an understanding of values and
emotions and to empathize with others. In short, technical skills will need to be complemented by strong social
and collaboration skills in the workplace.

What word can be used in place of the blank space given in the passage?

Correct Option - 3

Corroborate1.
Considerate2.
Collaborate3.
Confiscate4.
Complicate5.

Que. 122 Which of these words is closest in meaning to the word rattled?

Correct Option - 2

Curious1.
Nervous2.
Tired3.
Happy4.
Sleepy5.

Que. 123 Which of these words means the opposite of complemented?

Correct Option - 3

Praised1.
Supported2.
Contrasted3.
Admired4.
Completed5.

Que. 124 Which of these words is closest in meaning to the opposite of the phrase burned out?

Correct Option - 2

Exhausted1.
Invigorated2.
Overworked3.
Tired4.
Fatigued5.



Que. 125 What word can be used instead of the phrase get the picture of?

Correct Option - 2

Take a photo1.
Better understand2.
Obtain evidence3.
Memorize all details4.
See through5.

Que. 126 Identify a suitable title for the passage.

Correct Option - 4

Difficulties in hiring introverts for your company1.
Hiring tips for managers in the IT industry2.
Improving the efficiency of employes3.
Importance of emotional intelligence at work4.
Avoiding conflict at the modern workplace5.

Que. 127 Which of these statements best conveys the tone of the passage according to you?

Correct Option - 3

More work makes employees more depressed.1.
Employees need to let out their emotions at work.2.
Better emotional management improves work culture.3.
Emotional issues can be reduced by automation.4.
Workspace relations are unprofessional.5.

Que. 128 Which of these statements is true regarding the passage?

Correct Option - 2

Employees require more salary for their emotional needs.1.
Managers must have better emotional intelligence.2.
Managers must never give stressful tasks to employees.3.
Leaders should not be personally accountable in the workplace.4.
Employees without work experience are unreliable.5.

Que. 129 What percentage of employees have not reported feeling depressed at work?

451.
352.
653.
414.



Correct Option - 3

555.

Que. 130 Which of these methods is not used by companies to evaluate emotional intelligence?

Correct Option - 3

Pre-employment assessment1.
Reviewing previous experience2.
Group discussion3.
Checking references4.
All of the above5.

Que. 131 Which of these functions cannot be fulfilled by machines? 

Correct Option - 5

Understanding values and emotions1.
Having situational awareness 2.
Visualizing the future3.
Empathizing with others4.
All of the above5.

Que. 132 Which of these is not true regarding emotional intelligence in the workplace? 

Correct Option - 1

Ignoring stressful tasks1.
Managing one's own emotions2.
Empathizing with colleagues3.
Taking responsibility for oneself4.
Working on common goals5.

Que. 133 Directions: In the following question, some parts of the sentence may have an error. The error, if
any, will be in one part of the sentence. Find out which part of the sentence has an error and

select the appropriate option. If a sentence is free from errors, select ‘No error’ as your answer.
 
As the industrial revolution brought about the (A)/ development of newly inventions, communication (B)/ began
progressing fast, (C)/ liberated from the constraints of space and time. /(D) No Error. /(E)

A1.
B2.
C3.
D4.
E5.



Correct Option - 2

Que. 134 Directions: In the following question, some parts of the sentence may have an error. The error, if
any, will be in one part of the sentence. Find out which part of the sentence has an error and

select the appropriate option. If a sentence is free from errors, select ‘No error’ as your answer.
 
The government has took some steps /(A) to prevent the floods from destroying large farmlands /(B)  thereby
bringing a lot of relief to all the farmers across the country /(C)  especially the poor ones. /(D) No Error. /(E)

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 135 Directions: In the following question, some parts of the sentence may have an error. The error, if
any, will be in one part of the sentence. Find out which part of the sentence has an error and

select the appropriate option. If a sentence is free from errors, select ‘No error’ as your answer.
 
The queen was also notorious /(A) for her annoying stare,  /(B) bullying bursts of temper and /(C) on occasion,
her sudden refuse to speak at all./(D) No Error. /(E)

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 136 Direction​: Select the segment of the sentence that contains the grammatical error. If there is no
error, mark 'No error' as your answer. 

What he did was nothing more(A) than obey those feelings of (B) generosity and altruism which, as everyone
knows,(C) is the two best traits of human nature(D).

Correct Option - 4

A1.
B2.
C3.
D4.
No error5.

Que. 137 Directions: In the following question, some parts of the sentence may have an error. The error, if
any, will be in one part of the sentence. Find out which part of the sentence has an error and

select the appropriate option. If a sentence is free from errors, select ‘No error’ as your answer.



 
The result of the survey /(A) shows that  /(B) the majority of the shoppers  /(C) ditch there shopping carts after
loading. /(D) No Error. /(E)

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 138 Directions: In each of the questions given below, three words are given in bold. These three
words may or may not be in their correct positions. The sentence is then followed by options

with the correct combination of words that should replace each other in order to make the sentence
grammatically and contextually correct. Find the correct combination of words that replace each other. If
the sentence is correct as it is, select '5' as your option.
Approved (A) on Saturday said (B) a third coronavirus vaccine for domestic use, Prime Minister Mikhail
Mishustin Russia (C) on state TV. 

Correct Option - 2

ACB1.
CAB2.
BAD3.
ABC4.
None of the above. 5.

Que. 139 Directions: In each of the questions given below, three words are given in bold. These three
words may or may not be in their correct positions. The sentence is then followed by options

with the correct combination of words that should replace each other in order to make the sentence
grammatically and contextually correct. Find the correct combination of words that replace each other. If
the sentence is correct as it is, select '5' as your option.
It is mind (A) that people should keep in asserted (B) the importance of adherence to COVID-19 appropriate
behaviour (C).

Correct Option - 1

BAC1.
CAB2.
ABC3.
CBA4.
None of the above5.

Que. 140 Directions: In each of the questions given below, three words are given in bold. These three
words may or may not be in their correct positions. The sentence is then followed by options

with the correct combination of words that should replace each other in order to make the sentence



grammatically and contextually correct. Find the correct combination of words that replace each other. If
the sentence is correct as it is, select '5' as your option.
The AstraZeneca company is going to vaccine (A) in Japan doses of the coronavirus produce (B) enough for 40
million people (C), the executive director of the Japanese department of the firm said.

Correct Option - 4

CAB1.
ACB2.
ABC3.
BAC4.
None of the above5.

Que. 141 Directions: In each of the questions given below, three words are given in bold. These three
words may or may not be in their correct positions. The sentence is then followed by options

with the correct combination of words that should replace each other in order to make the sentence
grammatically and contextually correct. Find the correct combination of words that replace each other. If
the sentence is correct as it is, select '5' as your option.
A Japanese air force officer and a US Air Force instructor crash (A) were killed in a Saturday (B) in Alabama,
Japan's Air Self-Defense Force said on pilot (C). 

Correct Option - 3

CBA1.
ABC2.
CAB3.
BAC4.
None of the above5.

Que. 142 Directions: In each of the questions given below, three words are given in bold. These three
words may or may not be in their correct positions. The sentence is then followed by options

with the correct combination of words that should replace each other in order to make the sentence
grammatically and contextually correct. Find the correct combination of words that replace each other. If
the sentence is correct as it is, select '5' as your option.
Iran believes US sanctions will soon be lifted (A) despite continuing “diplomatic wrangling” over reviving the
nuclear deal, a government spokesman (B) said on Saturday, signaling Tehran's desire (C) to end the impasse
while not offering a new position.

Correct Option - 5

BCA1.
BAC2.
CAB3.
CBA4.
None of the above5.

Que. 143 Directions: Rearrange the following sentences (A), (B), (C), (D), and (E) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them. 



A. “Overall I’m not convinced the analysis is robust enough to draw the conclusions asserted,” Matthew
Struebig, a conservation scientist at the University of Kent who was not involved in the research, tells The
Scientist in an email.
B. Other experts say these findings should be interpreted with caution because the predictions are difficult to
verify.
C. The authors of the paper estimate that bat diversity increased the most in an area that includes Myanmar, Laos,
and southern China—where SARS-CoV-2 likely originated—thereby increasing the chances of a bat-borne
disease spreading to humans.
D. A shift in the global distribution of the winged mammals due to climate change may be responsible for recent
disease outbreaks, according to a study published January 26 in Science of The Total Environment. 
E. Most evidence scientists have generated since the start of the pandemic points to bats as the likely source of
the COVID-19–causing coronavirus. 

Which sentence will come in the first place after the rearrangement?

Correct Option - 5

A1.
B2.
C3.
D4.
E5.

Que. 144 Which sentence will come in the second place after the rearrangement?

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 145 Which sentence will come in the third place after the rearrangement?

Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 146 Which sentence will come in the fourth place after the rearrangement?

A1.
B2.



Correct Option - 2

C3.
D4.
E5.

Que. 147 Which sentence will come in the fifth place after the rearrangement?

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 148 Select the phrase/connector from the given three options which can be used to form a single
sentence from the two sentences given below, implying the same as expressed in the statement

sentence.
Solar eclipses occur at new moon. The Moon is between the Sun and Earth.
1. Whereas the Moon
2. When the Moon
3. And the Moon

Correct Option - 2

Only 11.
Only 22.
Only 33.
Both 1 and 34.
Both 2 and 35.

Que. 149 Directions. Select the correct way (among the given options) to connect the sentences given
below in the question. If all are incorrect, choose 'None of these' as your answer.

The book is layered with many philosophical teachings. It cannot be read and understood at one go.

Correct Option - 2

The book is layered with many philosophical teachings while it cannot be read and understood at one go.1.
The book is layered with so many philosophical teachings that it cannot be read and understood at one
go.

2.

The book is layered with many philosophical teachings therefore it cannot be read and understood at one
go.

3.

The book is layered with many philosophical teachings yet it cannot be read and understood at one go.4.
None of these5.



Que. 150 Select the phrase/connector from the given three options which can be used to form a single
sentence from the two sentences given below, implying the same as expressed in the statement

sentences. 
Werewolves take their true form only during the new moon. Vampires are vampires throughout their lives. 
1. Whereas
2. Unless
3. Nonetheless

Correct Option - 1

Only 1. 1.
Only 22.
Only 33.
Both 1 and 34.
Both 2 and 35.

Que. 151 Select the phrase/connector from the given three options which can be used to form a single
sentence from the two sentences given below, implying the same as expressed in the statement

sentence. 
Maxine was the topper in her class. Sasha was in the bottom three.
1. Notwithstanding
2. Whereas
3. Unless

Correct Option - 4

Only 11.
Only 32.
Both 1 and 33.
Only 24.
Both 2 and 15.

Que. 152 Select the phrase/connector from the given three options which can be used to form a single
sentence from the two sentences given below, implying the same as expressed in the statement

sentence. 
Mihir was extremely sick. He went on to play in the tennis tournament. 
1. Whereas
2. Nonetheless
3. Unless

Only 21.
Both 1 and 32.
Only 13.
Only 34.
Both 1 and 25.



Correct Option - 1

Que. 153 Select the phrase/connector from the given three options which can be used to form a single
sentence from the two sentences given below, implying the same as expressed in the statement

sentence. 
She scored full marks in her exam. Mohini would not be allowed to participate in the annual day. 
1. Unless
2. Whereas
3. At least

Correct Option - 1

Only 11.
Only 32.
Only 23.
Both 3 and 14.
Both 2 and 15.

Que. 154 Directions: Choose the word that is closest in meaning to the given word.
Unhappy

Correct Option - 3

Shocked1.
Pleased2.
Disappointed3.
Amazed4.
Overjoyed5.

Que. 155 Directions: Choose the word that is opposite in meaning to the given word.
Serene

Correct Option - 3

Untroubled1.
Tranquil2.
Anxious3.
Calm4.
Peaceful5.

Que. 156 Directions: Choose the word that is closest in meaning to the given word.
Spectacular

Touching1.
Dazzling2.



Correct Option - 2

Disgusting3.
Mediocre4.
Average5.

Que. 157 Directions: The following question contains a sentence with one blank only. Below are given
three words as answer choices. You have to choose an option with choices that can make the

sentence complete.
The biker was extremely ________ at being overtaken by a beginner biker. 
A. Enraged
B. Furious
C. Sympathy

Correct Option - 1

A and B1.
B and C2.
A and C3.
Only A 4.
Only C5.

Que. 158 Directions: The following question contains a sentence with one blank only. Below are given
three words as answer choices. You have to choose an option with choices that can make the

sentence complete.
The farmer was _________ by the lack of rain that season. 
A. Empathy
B. Distraught
C. Distressed

Correct Option - 2

A and B1.
B and C2.
C and A3.
Only A4.
Only B5.

Que. 159 Directions: The following question contains a sentence with one blank only. Below are given
three words as answer choices. You have to choose an option with choices that can make the

sentence complete.
Having been caught doing mischief, the students were ________ from school. 
A. Expelled
B. Removed
C. Justified



Correct Option - 2

C and A1.
A and B2.
Only C3.
B and C4.
Only A5.

Que. 160 Directions: The following question contains a sentence with one blank only. Below are given
three words as answer choices. You have to choose an option with choices that can make the

sentence complete.
The minister was _________ when his scandal was revealed to the world.
A.  Applauded
B.  Ashamed
C. Embarrassed

Correct Option - 2

C and A1.
B and C2.
Only B3.
Only C4.
A and B5.

Que. 161 Which of the following options is correct with regard to HTML?

Correct Option - 4

It is a modeling language1.
It is a DTP language2.
It is a partial programming language3.
It is used to structure documents4.
It is a scripting language5.

Que. 162 The code that relational database management systems use to perform their database task is referred
to as

Correct Option - 2

QBE1.
SQL2.
OLAP3.
Sequel Server4.
None of these5.

 _____is a group of single or multiple keys that identifies rows in a table.



Que. 163

Correct Option - 5

Primary key1.
Candidate Key2.
Composite Key 3.
Compound Key 4.
Super Key5.

Que. 164 Which of the following is a markup language? 

Correct Option - 1

HTML 1.
PHP 2.
Python3.
Java4.
Both 1 and 25.

Que. 165 CAD stands for _______.

Correct Option - 2

Common Aided Design1.
Computer Aided Design2.
Complex Aided Design3.
Communication Aided Design4.
None of these5.

Que. 166 What is the full form of EEPROM?

Correct Option - 4

Electronically Erasable Programmed Read-Only Memory1.
Easily Erasable Programmed Read-Only Memory2.
Electronically Erasable Programmable Read-Only Memory3.
Electrically Erasable Programmable Read-Only Memory4.
None of these5.

Que. 167 Linux is a type of ________ operating system

Shareware1.
Commercial2.
Proprietary3.
Open source4.
Hidden type5.



Correct Option - 4

Que. 168 When you enter text in a cell in Excel, it also appears in 

Correct Option - 2

Status bar1.
Formula bar2.
Row heading3.
Name box4.
None of these5.

Que. 169 The ___________ is used to move the active cell to the cell A1 in MS - Excel. 

Correct Option - 4

Home1.
Page Up2.
Page Down3.
Ctrl + Home 4.
None of these5.

Que. 170 Which of the following statements is true in the context of Watermark?

Correct Option - 3

A watermark can only be applied to a single page in document.1.
A watermark is not visible to viewers in a hard copy.2.
A watermark is a ghost text.3.
The colour of a watermark cannot be changed.4.
None of these 5.

Que. 171 What is (1111)2 + (1001)2 - (1010)2 equal to?  

Correct Option - 3

(111)21.

(1100)22.

(1110)23.

(1010)24.

None of these5.

Que. 172 Integrated Circuits (ICs) are related to which generation of computers?

First generation1.



Correct Option - 3

Second generation2.
Third generation3.
Fourth generation4.
None of these5.

Que. 173 Which of the following IC was used in third generation of computers?

Correct Option - 4

SSI1.
MSI2.
LSI3.
Both a and b4.
None of these5.

Que. 174 1024 Kb=  ____

Correct Option - 1

1 MB1.
1 TB2.
1 GB3.
1 ZB4.
1 EB5.

Que. 175 Which of the following tools can be effectively used to collect feedbacks from students in an online
mode of teaching?

Correct Option - 3

OBS Software1.
Youtube2.
Google forms3.
Ms-word4.
Both i and ii5.

Que. 176 Which of the following is used with the intention of extorting money from its owner?

Ransomware1.
Malware2.
Spyware3.
Adware4.
None of these5.



Correct Option - 1

Que. 177 Flash memory is made up of

Correct Option - 4

RDRAM1.
MROM2.
SRAM3.
EEPROM4.
PROM5.

Que. 178 Which of the tasks is done by VLC media player using MS Excel?

Correct Option - 4

Audio1.
Document2.
Picture3.
Video4.
All of the above5.

Que. 179 Which of the following memory is volatile?

Correct Option - 1

RAM1.
ROM2.
PROM3.
EPROM4.
All of the above5.

Que. 180 A 32 bit address bus allows access to a total memory of CPU

Correct Option - 3

64 MB1.
1 GB2.
4 GB3.
6 GB4.
2  GB5.

Que. 181 A ___ uses pressure as a user presses it with a stylus to send signals to the computer.

Touchpad1.
Track Point2.



Correct Option - 1

Graphic tablet3.
Track pad4.
Keyboard5.

Que. 182 What is the size of IPv4?

Correct Option - 3

8-bit1.
16-bit2.
32-bit3.
64-bit4.
None of these5.

Que. 183 IPv6 is the advanced version of Ipv4 address, what is the size of IPv6?

Correct Option - 4

32 bit1.
64 bit2.
124 bit3.
128 bit4.
None of these5.

Que. 184 Which of the following holds the ROM, CPU, RAM and expansion cards?

Correct Option - 3

Hard disk1.
Floppy disk2.
Mother board 3.
None of the above4.
Both i and ii5.

Que. 185 Octal number 12 is equal to decimal number

Correct Option - 2

91.
102.
113.
124.
145.



Que. 186 Name the device used to connect computers for communication via telephone lines.
A. HUB

B. Switch
C. Repeater
D. MODEM

Correct Option - 1

D1.
A2.
C3.
B4.
None of these5.

Que. 187 What are some of the benefits of using a firewall for your LAN?

Correct Option - 4

Increased access to Instant Messaging1.
Stricter access control to critical resources2.
Greater security to your LAN3.
Both 2 and 34.
None of the above5.

Que. 188 Which of the following option correctly describes use of firewall?

Correct Option - 1

Preventing unauthorized access1.
Data sharing between different servers2.
Fast web browsing3.
Preventing computer hardware from any damage4.
None of the above5.

Que. 189 Which of the following is NOT a social networking site?

Correct Option - 2

Facebook1.
Epic2.
Linked In3.
Skype4.
Twitter5.

Que. 190 What is used to create a link to a web page, a picture, an email address or a program?



Correct Option - 4

Clip art1.
Smart art2.
From Web3.
Hyperlink4.
New Window5.

Que. 191 Which of the following is not a windows version?

Correct Option - 3

81.
72.
93.
104.
XP5.

Que. 192 Which of the following is an input device used to enter motion data into computers or other electronic
devices?

Correct Option - 2

Monitor1.
Trackball2.
Speaker3.
Plotter4.
Both ii and iii5.

Que. 193 Which of the following is a very high-speed semiconductor memory which can speed up the CPU?

Correct Option - 1

Cache Memory1.
Primary Memory2.
Main Memory3.
Secondary Memory4.
All of the above5.

Que. 194 What is the purpose of 'Compare' option in MS Word 2007?

It compares style between selected texts in the document1.
It compares two paragraphs in the document2.
It compares two-word documents3.
It compares a word document with a PDF file4.
None of the above5.



Correct Option - 3

Que. 195 Which device among the following works as both Input and Output device?

Correct Option - 4

Printer1.
Keyboard2.
Scanner3.
Network Cards4.
Pointer5.

Que. 196 What is the shortcut key for the central alignment of a line or text in MS Office software?

Correct Option - 1

Ctrl+E1.
Ctrl+A2.
Ctrl+G3.
Ctrl+C4.
Ctrl + D 5.

Que. 197 Which of the following mentioned options is a basic software used in MS Office?

Correct Option - 5

MS-Word1.
MS-Excel2.
MS-PowerPoint3.
MS Access4.
All of these5.

Que. 198 Match the following:
 a) Input Device  p) ROM
 b) Processing
device

 q) Touch
screen

 c) Storage Device  r) Printer

 d) Output Device  s) Flash
Memory

A. a-q, b-s, c-r, d-p
B. a-q, b-p, c-s, d-r
C. a-r, b-p, c-s, d-q
D. a-p, b-q, c-r, d-s



Correct Option - 4

C1.
D2.
A3.
B4.
None of these5.

Que. 199 Which among the following is NOT a feature of RAM

Correct Option - 2

Allows users to store multiple gigabytes (GB) of data.1.
Data remains even after power supply is not present.2.
It can be accessed by the Central Processing Unit3.
Can be read, erased or modified.4.
Data in the RAM can be accessed randomly.5.

Que. 200 Windows 95, Windows 98 and Windows NT are known as what?

Correct Option - 4

Processor 1.
Domain names 2.
Modems3.
Operating systems 4.
None of these 5.
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